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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1
1) 402 2 409 3 508 4 103
- 231 - 315 -414 - 11 2
3
4,
5 405 6 602 7 604 8 408 >
- 143 - 292 - 371 -197 6
7.
8.
9 302 100 409 1) 705 12) 307 .
- 184 - 287 -277 - 37
- — 10.
11.
12.
13) 605 14) 604 15 807 16) 301 13.
- 51 - 539 -622 - 62
- - 14,
15.
16.
17) 506 18) 107 190 308 200 709 17
-129 - 43 - 183 - 415
18.
19.
20.
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
1 171
1) 402 2) 409 3) 508 4 103
- 231 - 315 - 414 - 11 2 94
171 94 94 92
3. 94
4. 92
5 405 6) 602 ) 604 8 408 > 262
- 143 - 292 - 371 -197 . 310
262 310 233 211
7 233
8 211
9 302 100 409 11) 705 12) 307 9 118
-184 - 287 -277 - 37 122
118 122 428 270 1o
1. 428
12 270
13) 605 14) 604 15 807 16) 301 13 094
- 51 - 539 - 622 - 62
554 65 185 239 . 65
15. 185
16. 239
17) 506 18) 107 190 308 200 709 7 377
-129 - 43 -183 —_415
377 64 125 294 18. 64
19. 125
20. 294
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Math www.CommonCoreSheets.com 11-20[45]4035[30] 25|20 15[ 10| 5 | 0




JL_

Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
233 185 94 171 92
118 428 310 65 554 1.
211 262 270 94 122
2.
1) 402 2) 409 3 508 3.
- 231 - 315 -414
4,
5.
6.
4 103 5 405 6) 602
- 11 - 143 - 292 &
8.
9.
) 604 8 408 9 302 10.
- 371 - 197 - 184
— — — 11.
12.
13.
10) 409 1) 705 12) 307
- 287 - 277 - 37 14'
15.
13) 605 14) 604 15 807
- 51 - 539 -622
M odified 1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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